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                With “C= Ri / ri  ,  i=1,n”

For a sphere of radius =0.25 units, and the polar angle changes at intervals of 2.5˚

There will be 144 intervals. Circumference= 2π/4 so that the diameter of each sphere on the circumference = 0.0109028; radius = 0.0054514
             C = R/r = 0.25 / 0.0054514 =    45.859779      [46.859779/44.859779] = 1.04458334

Log (1.0445834) = 0.0189431   (r/R) 3=1.0368218e-5 =0.000010368218

Equation of the Circle =  x2 + (y- c)2 = r2





Equations for


Line-1   y = x+d


Line-2   y = -x+d


Line-3   y = x-d


Line-4   y= -x-d
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Square centered at origin with diagonal length “2d”
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